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Patent Law

I. Introduction

A. Theory for Patent Protection
1. Constitution: Helps us understand the incentive basis for patents. Worried people won't create intellectual property w/o property rights.

2. Trade Secret Law: Patent protection is a necessary response to trade secret law by giving inventors a reason to not use TS law and announce to the world what your invention is. 

a. Let others benefit from invention. 

b. Avoids duplicative research.

3. Competitor Incentives: Not trying to focus on rewarding the inventor, but trying to take some things and put them off limits to rivals to get rivals to work harder to come up with new ideas.

B. Counterarguments to Patent Protection
1. Prevents innovation

a. Tragedy of the anti-commons: Everyone patents a piece, nobody can put them together.

2. Computer science argument: We file patents defensively bc we're afraid someone else will take the invention from us. Don't want legal regime to be involved. 
3. Many times it is clear that the party holding patent didn't contribute anything to world. Came up with invention and leaned back to wait for somebody else to come up with it, and took their money.

II. The Patent Application

A. Reading a Patent
1. Bracketed numbers: International code helps non-English readers know how to read a patent. 
( ex. [75] = inventor name

2. Assignee: Entity with rights to patent.

3. Filing date: Can be important for rights.

4. [51],[52],[58] classify patents into families so we know what prior art to compare it too.

5. References cited: Prior art this patent had to overcome. Not required to provide this info to patent office.

B. § 112 Specification. Must contain:

1. The Claiming Requirement: A patent must include one or more claims which clearly and distinctly describe the invention, setting forth its constituent elements. This establishes the scope of the patent.

2. The Enablement Requirement: The applicant must describe how to make and use the invention with sufficient clarity, precision and detail to enable a person skilled in the relevant art to make and use it without undue experimentation.

3. The Best Mode Requirement: Applicant must set forth the best mode that she contemplates of carrying out her invention as of the filing date.

a. It must be established whether at the time of the filing, the inventor knew of a mode of practicing her invention that she considered to be better than any other.

b. If so, did she disclose it adequately to enable on skilled in the art to practice it.

C. Basics of Drafting a Claim: Claims aren't about disclosure as much as defining the property right inventor will get. Patent application as whole is about disclosure. Ask if you are covering too much or too little.

1. Lots of discretion
a. Can coin new terms

b. Constrained by § 112. Must be 1 sentence.

c. PTO "manual of patent examination procedure" gives details of little nuances.

d. In general, there are conventions but not firm rules on language of patent.

2. Elements of a claim
a. Preamble: "A writing tool", "A composition of matter", "A method of..." Provides a general introduction. Is not limiting on the rights of the inventory unless it breathes "life and meaning" into your claim.

(A) Not limiting: "A diagnostic medical imaging system"

(B) Possibly limiting: "A diagnostic medical imaging ultrasound system capable of being housed on a portable support

b. Transition: 3 common ones

(A) "Comprising": Broad. If elements of patent are A B and C, and someone does A B C & D, there is infringement.

(B) "Consisting of": Narrow. Case where what is cool about invention is you did it in only X elements.

(C) "Consisting Essentially of": Intermediate. If an invention consists essentially of elements A, B, and C, the claim would cover a variant having the additional element D only if D did not make the variant essentially different from the claimed invention.

c. Body: Introduce specific limiting elements, i.e., what makes up your invention.

(A) Usually want each element introduced in a new clause

(B) Must be clear what the relationship is between elements.

3. Claim Formats: 2 formats, independent and dependent

a. Independent & Dependent claims: Independent claims do not refer to any other claim(s). Dependent claims do.

(A) Subsequent claims narrows the scope of the patent as set out in the first claim.
Ex. A windmill according to claim 1, wherein the wind-catching device is a set of rigid blades.

(B) Advantage of dependent: Form of insurance. If patent office grants a broad claim and in later litigation the broad claim is declared invalid, no recourse. Narrower dependent claims protect against invalidation. Validity of dependent claims is separately assessed and may be upheld even if the claim it is dependent on is struck.

b. Functional Claims "means for": Allows for equivalents to be covered for a function

(A) Ex. A hammer comprising a head, a handle, and a means for attaching the handle. Covers the means described in specification and equivalents. 

(B) Have to be careful, court may not agree on what "equivalent" is. For example glue wouldn't be equivalent for a nail.

c. Product by Process: Something you created that you don't know how to describe but you can describe the process by which you yield it.

(A)  Limited protection: Used to be you got rights to product regardless of process. Now, fed cir says all you get is product as created by your process. If someone comes up with another way, that's fine. 

(B) Ex. An insulating material prepared by a process comprising the steps of...

d. Jepson Claim: Way to specially point out that you are trying to improve an existing invention. "An improved X, the improvement of which is Y. 

(A) Case where preamble is limiting by design, conceding away X. 

(B) Makes PTO's job easy – claim concedes away a lot of the prior art. 

(C) Some countries require or strongly favor it, so you might want to do this claim everywhere. PTO may push you to.

4. Strategy for Scope: Only time you need something narrower is if your broad claim as whole gets preempted by prior art. Ex. softwood device vs. cedar device.

5. Pencil Example
a. Reference to outside non-marking substance you hold

b. Thing that does marking

c. Eraser

d. Means for connecting eraser to pencil: could do means for connecting eraser to wood. Separate element needed.

III. Subject Matter (SA39)
§ 101 "Whoever invents or discovers any new and useful..."

A. Lets in two classes of inventions, invention can be set up either way (or both).
1. Products: Machines, composition of matter, manufacture is catchall--gets everything else.

2. Processes ≡ Process art or method and includes a new use of a known process, machine, manufacture, composition of matter, or material. § 100.
a. 2 flavors.
(A) Method of using something: how to use an item.

(1) If you discover a new use for a patented product, you can patent the new use but are blocked by the patent holder of the product. Holder of patented product is blocked from your patented use.

(2) No permission needed from original patent holder to develop the new use. 

(B) Method of making the item.
b. AT&T v Excel: (C2P197) So long as process is "useful, concrete, and tangible" doesn't have to be physical. Broad.

c. If you describe product by a process, you only protect the process. But can protect product later on. May be strategy for only revealing process and not the product.

B. No patent on pre-existing products of nature: Can only patent processes.

1. Why?
a. Administrative: What does property rights on products of nature mean? You can take all the pinecones from private property?

b. Incentive: 

(A) Don't need to give out rights in products of nature because process can be patented. Process is what we value. First-mover advantage should be enough.

(B) Other property rights already control products of nature (right to everything on your land).
( Does property rights provide enough incentives for inventors?

2. Concerns
a. Waste: What if cancer-curing pinecones are going to waste?

b. What if product of nature is destroyed before process is discovered? Rainforest problem.

c. Silence: Inventor will keep quiet until she discovers all the possible uses for the product.

d. Problems with allowing only process patents for PON
(A) Bureaucracy

(1) writing the claim

(2) determining infringement

(B) Real contribution in discovering the product

3. The more you modify the product nature, the more likely you are to get the patent. 

a. Ex. Combinations of products of nature.
( Funk: Man comes up with combination of good bacteria to help plants grow. Court wouldn't 
     allow a patent but likely would today.

b. Purifications generally

4. Living organisms
a. Diamond v Chakrabarty: (C2P77) Genetically  modified bacterium that breaks down oil. Court holds that there is no special rule about whether the thing is living. If you alter it, it becomes patentable.

b. PTO: any non-naturally occurring non-human multi-cellular organism is patentable. 13th amendment problem with humans. battle lines at chimeras.

5. Man-made vs Products of Nature: Prop: For PON must claim rights via procedure patent. Man-made products can be claimed writ large.

a. Is this true? Seems so, though fuzzy distinction btw man-made & PON.

b. Does this make sense?

(A) If X invents the shovel but doesn't know its uses (or determines only a small use) what's the purpose of giving her full rights?

c. Problems with allowing only process patents for man-made products
(A) Bureaucracy

(B) Real work is inventing product.

C. No patent on laws of nature, physical phenomena, and abstract ideas. Why or why not?

1. Breadth: Patents on law of nature, etc would be very broad.

a. Pros of broad patents
(A) Patent holder will coordinate development on it, avoiding duplication

(B) Broad patents solves these worries that way only a few holders one has to worry about, easy to get permission.

b. Cons
(A) Hard for one party to coordinate development of something broad, generally bad.

(B) Worried everything one does will implicate a series of algorithms always negotiating with others to do anything new

(C) Too hard to administer. 
(1) Too difficult to establish boundaries of an equation.
( Counter: § 101 is already vague with what constitutes a law of nature or algorithm.


(2) How do you determine whether a subsequent invention infringes?

2. Patent protection is either unnecessary or ineffective in these categories.
a. Large time lag btw time someone identifies basic law to when it can be utilized.
( Promise of $ later on when law is utilized not particularly motivating.

b. Might displace other incentive systems we have.

(A) If we bring patent system into basic science we may cause people not to be as open in trading information.
( We don't encourage basic science through patents, gov does, defense dept does, will 
     undermine this as well.

(B) Inventor already has first-mover advantage

c. Monopoly would pose undue roadblock to further invention by others
( But then person with monopoly could coordinate development, avoid redundancy.

d. Bad argument: Inventors aren't driven by money

e. Unfair to patent algorithms, etc bc when someone else uses it they may not have benefited from the patent holder.
( Counter: That's the way the entire system is, even innocent infringers can be sued.

3. A person who discovers such a law isn't creating anything.
      ( Note these policy arguments don't have to be solved via § 101. Also enablement, utility, etc.

D. Software & Algorithms
1. Mental steps doctrine ≡ Old idea that invention about human interpretation or decisionmaking is not patentable because such "invention" takes place in your mind. Too abstract.

a. Maybe invention was incomplete. Inventor hasn't told us in detail how it is the human does that, what they should weigh during the process.

b. People tried to tie invention to something physical. With software, people said I can tie software to a computer to get around mental steps doctrine.
( Problem: Adding a computer doesn't seem to add anything meaningful to invention.

2. Supreme Court
a. Gottschalk v Benson: Person invents special way of converting BCD to pure binary. 

(A) Holding: Court finds that their "process" is so abstract and sweeping that it covers knowledge already in public domain. Granting a patent would pre-empt the math formula and put patent on algorithm itself.

(B) Analysis: Horrid. The only thing they really say is if your only limitation is doing algorithm on computer, not much of limitation. All inventor is really trying to do is claim the algorithm.

(C) Policy: Also horrid. Cites some presidential commission which states that adequate archive of prior art for software doesn't exist nor does adequate search mechanism. In other words, ( no infrastructure so we won't do it.

b. Diamond v Dieher: Inventor invents process comprised of steps to load synthetic rubber into a mold, monitor internal temperature of mold, use computer program to repeatedly recalculate time needed (based on known formula) and open mold at correct time.

(A) Holding: Patent granted, inventor obtains a monopoly on use of the algorithm in connection with the rest of the steps in the process.

(B) Inventor didn't invent algorithm, only figured out how to implement it.

3. Lower Court
a. Freeman-Walter-Eagle Test. Reinterpreted by fed cir, now disfavored. Ask:

(A) Is algorithm directly or indirectly recited in claim.

(B) Is invention no more than algorithm itself?

b. New Test: From State Street and AT&T v Excel we see new test, see if invention produces useful, concrete and tangible result.

E. Business Method Patents (BMP)
1. Relation to algorithms: Both vulnerable to mental steps doctrine. Both rely on computers to overcome this problem.

2. State Street: Federal circuit takes away exception for BMP, extending protection to them.

3. Sometimes bogus (one-click) sometimes useful (perhaps anti-theft system of charging $X.99 for all goods).

4. Special law: If you are accused of infringing, you can defend by showing you have been running business with this method more than one year before the other guy files.
a. If 10 years ago you came up with a new business method it couldn't be patented originally so you may have hid it as a trade secret. If you did that and law changes, now you're in situation where you were first but originally couldn't patent, keeping it secret won't stop anyone else from patenting under prior art rules. That's why this is useful.

b. But they screwed up the language, so it didn't come out as they intended

c. Congress put us back into the problem area of not wanting special rules from BMP and other patents because it can be difficult to define what a BMP is.

F. Expansion of subject-matter: Why are courts always broadening this?

1. Bifurcation Theory: In other areas of law the attorneys are clearly on one side or the other. ex. labor law – management person or employee person, bifurcation of lawyers. In patents, you either sue for infringement or are being sued for infringement. Same lawyer does both, nobody wants to narrow the law because it might come back to haunt them.

2. Patent Holder Theory: Defendant in infringement case may be reluctant to raise subject matter issues out of fear it will be used against her later on for her patents. So she may prefer to make narrower arguments tied to this specific patent to avoid future problems.


IV. Utility § 101

 "Whoever invents or discovers any new and useful process, machine, manufacture, or composition of matter...may obtain a patent therefore..."

A. Practical/Specific Utility: Is there a real use for what you bring to patent office

1. Throw-away and insubstantial uses don't count must be "specific and substantial".
2. Categories of cases:
a. Make invention w/o anything in mind, like pinecone discussion, is there any purpose of this?

b. Invention you made with hope it will turn into something useful but not sure it will work out.

c. Middle-step cases, not trying to make end product but research tool to help other things move forward. These things too may not be useful to society at end of the day.

3. Brenner: (C3P271) Two people after same patent. R&R first to file, Manson steps in claiming first to invent. M has to show he identified a use for an invention before R&R. CCPA: There was obviously utility. Usefulness of process is producing desired ("X"). SC reverses

a. Interference 102(g): This is an interference case, needed to prove who created process and established utility first.

b. Little disclosure: SC condemns system, frustrated with your vague patents that the argument based upon the virtue of disclosure must be warily evaluated.
( If they let you patent process w/o use for end product, you won't disclose anything of use.

c. Pressure for secrecy: Claims pressure for secrecy exaggerated; the inventor has incentive to make invention known so someone will find use.

(A) Problem: The person who finds the use may try to patent the process. K law protection?

d. Incentives: Claims that allowing protection of patent w/o use will inhibit others from finding use.
( Stupid, use K law to hire people to find uses, split profits.

e. Boundaries: Claims until process claim is reduced to sense that we know what outcome does, its hard to delineate the boundaries of the patent.

(A) Dissent/L: This is absurd, M is seeking patent on a clearly mapped out process not on product.

(B) Blatantly untrue that patent is hard to write.

f. Timing: Court doesn't say this, but maybe they want utility to be a timing device.

B. Beneficial Utility: Is it the kind of thing we want in society? Immoral or Illegal.

1. Categories
a. Deceptive inventions: Someone made product that looks like its mixing the drink in a transparent body  but in reality draws from sanitary tank, not the one you see. Court says this looks deceptive, no patent. 

b. Illegal inventions
c. Immoral inventions: Courts generally do not strike down invention on pure moral grounds.
2. Policy
a. Purpose of system is to encourage people to make inventions, why encourage inventions for things that are illegal, immoral?

b. Response: Societal attitudes change, what's illegal today may change tomorrow, don't want scramble to patent in the future like with BMP's. Esp a problem for morality issues.

c. Who decides morality? Don't trust the courts, maybe Congress should decide. If we aren't sure enough to make it illegal than maybe we shouldn't prohibit patenting.

( Congressional Intent: Not clear Congress wanted courts to be doing this. Might say if they did 
     they could have written a law for this like trademarks. Or make them do it explicitly

d. Double-edged Sword: If you don't give patent protection to illegal/immoral/deceptive inventions, more people will make them.

3. International Agreements: It's possible that we'll see a rise in use of beneficial utility bc many international patent agreements have exception saying if you deny patent due to immorality for your country, that's okay, you can move away from uniform patent system. 
4. What about products with multiple uses, only some of which are beneficial?
( People could draft around it, write claim for the 2% okay stuff.

5. Alternative: Give patent protection but then Congress makes the patent unenforceable. Ex. Medical procedures.

a. Signaling Power: Patent is a form of recognition, glory of discovery.

b. Infrastructure: If regime changes, patent infrastructure is in place to turn on patent protection.

c. Disclosure: For beneficial utility, no public disclosure, don't want people publicly telling people how to do illegal thing. Here, gov helps you disclose your invention.
( Why is this needed in medicine context, journals far more efficient? Who knows.

C. Basic Operability: Does it work?

1. Might say who cares whether it works. Response is we're worried about fraud, that you'll use the fact you have a patent on this non-working invention to deceive others.

2. Sometimes inoperable because of a mistake and it really is operable, just misdocumented.

3. Don't want world where inventor has to bring invention to PTO and show it works. So PTO generally presume it works, put burden on PTO to show it doesn't work before req inventor to prove that it works.

4. Operability is not objection to practical econ significance –doesn't matter if it isn't efficient, leave that to market.

D. Policy: Why have utility requirement? Let market decide value for junk.

1. Purposes
a. Timing Device
(A)  Amplifies incentive: If you did the first few steps, it gives you a strong incentive to follow through on research because you get nothing otherwise.

(B) If you don't do the last step which we think you are in the best position to do, you get nothing.
Ex. Brenner.

(C) Reduces blocking patents
(1) To extent we allow you to come to PTO early we set up richer env for blocking patents, more of them will be issued if people can come quickly.

(D) Counter: if we think process patent holder is best coordinator of development on use, then we may want first to invent process to patent and let them supervise discovery of use.

b. When utility is incorporated into the patent, it makes it easier to search.

c. Signaling value of use.

2. Problems
a. Worried about inventor who discovers X, doesn't continue research to find uses knowing that she can block any inventor who later discovers a use from using the process to produce X.

b. Lottery idea: Patent a bunch of stuff figuring you will hit the jackpot. Want to prevent this?


V. Disclosure & Enablement [§ 112]

"The specification shall contain a written description of the invention, and of the manner and process of making and using it..."

A. Claiming Requirement: Patent must contain one or more claims that describe the invention and set forth its elements. This establishes the scope of the patent. Novelty, non-obviousness and usefulness are judged in reference to these claims, as is infringement.

B. Enablement: A patent application must describe how to make and use the invention with sufficient clarity, precision and detail to enable skilled person to make and use it w/o undue experimentation. Must be established only as of the date the invention was filed. (C4P40).

1. General
a. Enablement would be easy if all we were trying to do is give you literally the invention you accomplished. You would turn in the model or sample cells, etc and that's it. Too easy to invent around this so we give inventor more than she invented.

b. The closer you are to claiming what you did, the easier to patent. If you build something, claim what you did, you get it even if you don't understand animating principle. Just have to explain how the pieces fit together.

c. Becomes an issue for broad, unpredictable claims.
(A) For a predictable field, broad claims become easier. If you invent machine, easy to see how you can swap a bolt for a nail, etc. Teaching the one allows us to see alternative embodiments.
( ex. Mousetrap w/plastic springs and you want to claim it w/all springs.

(B) Harder in unpredictable areas like chem & biotech. May be difficult to abstract out to other equiv reactions. Enablement more of an issue here.

(C) People first give their detailed description of what they did, but also give a more general discussion of animating principle from behind what they did.

2. In re Wands: (C4P21) Court upholds patent.
a. Claim: Not process of creating antibodies p23 Rather, method for using antibody to test for antigen of Hep B. A few types of antibodies, their contribution is using IgM., has good binding affinity.

b. If you are claiming a process to have enabled process must be able to enable all the ingredients. If you have tough ingredients rule kicks in, if there is method for making ingredients needed for method, must give us that too.
(A) Cell deposit: One way to satisfy this rule. Satisfies showing us how to make it.

(B) Why does W concede deposit does not enable the generic claims that are on appeal? 

(1) Wand's claim is really broad: Wants antibody claim across broad range of affinity, but deposit only enables 5 or 6 different antibodies. 

(2) Claim covers more than this, so that's why he didn't argue cells enable, he wanted all the high affinities, broad claim, yet his deposit could only enable the antibodies he deposited. So that's why he didn't lean on the deposits.

(3) Alternatively, may have not wanted to deposit for future inventions.

(4) Wand thus argues starting materials are readily available (antibodies) 

c. Two Levels of Confusion. Court isn't clear which of the 2 bothers them.

(A) Did Wands know how reliable this thing is?
(B) How reliable is it? If we're worried that it's not reliable enough why not make them go back and try harder but give them the patent.

(1) Did process several times, archive of cells but tested only some of them. Told patent office that they did this, we went through it 4 times and stopped short of fusing to cancer cell several times.

(2) Don't know what happens for remaining 196 cases. There is no requirement to test that many times but concern that maybe they chose ones that were easy, skewing rate?
( No obligation to do 200 tests, might say if they do little its unreasonable but holding them 
     accountable for # they didn't complete seems unreasonable.

(C) Court: Looks pretty reliable, their process yields what they say. Bundled the 2 issues together so we don't know which court was worried about. We all know this is reliable. Don't know what would have happened had it only worked 1% of time.

(D) Key: Requires that artisan skilled in art believes that it works. They've shown is they have something that at least sometimes works. What seems special is inventors don't know whether it always works. But holding holds on other ground, it works and doesn't say whether they need to know it works or not.

d. Problem with allowing patent when ingredients aren't really available: Essentially double-patenting, first patent process, then later the ingredient?

3. Undue Experimentation: One way we determine enablement is if someone skilled in art could do it w/o undue experimentation             

a. Factors to be considered in determining whether disclosure requires undue experimentation [In re Foreman]

(A) Quantity of experimentation necessary

(B) Amount of direction or guidance presented

(C) Presence or absence of working examples

(D) Nature of the invention

(E) State of the prior art

(F) Relative skill of those in the art

(G) Predictability or unpredictability of the art

(H) Breadth of the claims.

b. What is undue?
(A) Atlas Powder: (C4P29) Explosive that could be made out of one of 3 categories of invention. Categories are outlined in patent, gives many examples of each. Says take one from each category and you get explosive. Someone tried it and many combinations didn't work, couldn't just randomly grab 3. Court said no, if you are skilled in art you'll be able to narrow list quickly. If you make bad combo you can figure out how to tweak it to work.

(B) Key: Don't write us a textbook every time you file patent application, assume skilled in the art person is looking at this. Hurts us a bit since sometimes technology is hard to grasp. Not designing their manufacturing facility for them, they have to do work on their own.

(C) Upside: Keeps people from drowning you in details with a bad motive – hide the ball.
c. Incandescent Lamp Patent (C4P5)

(A) Sawyer and Man (S&M) get patent for incandescent conductor made of carbonized fibrous or textile material. Edison then comes along, finds out particular form of bamboo works the best, buys it up. Issue: Does S&M's successes with carbonized paper and wood carbon allow them to claim all fibrous or textile material?

(B) Court here thought a major defect for their patent was not doing the work to say what property of fiber works best. Lot of experimentation left otherwise. Edison brought something to the table.

(1) S&M didn't give us the lamp, someone else solved vacuum issue. All they brought was a substance that worked as a filament.

(2) Different then pencil claim where inventor is giving us the pencil.

(C) W/o Edison this isn't an easy case of whether to reject on lack of enablement. It feels broad – every possible fibrous/textile material, but not as slam dunk as with Edison.

4. Invention must be technologically feasible to enable.
Gould v Helworth: (C5P133) Worked with lasers. Trying to get improvement patent, wrote patent about thing you add to laser to get better control of beam. Infringer said my enablement challenge is at the time he filed patent nobody could build a laser, Gould guessed it would be invented and it would work, he solved a problem ahead of time. Can't be enabled, nobody could build it bc laser hadn't been invented. Is that a good outcome, if it was enabling once underlying technology was developed?

5. Temporal Paradox: (C4P40) Suppose A patents X and some time later B patents an improvement on X called Y that is nonobvious under § 103 at the time of B's invention. B would still be infringing X to make Y if B's improvement fits A's claim as it was understood when A patented. Thus, A enabled Y.

C. Disclosure
1. Written Description: Sufficient to show you were able to accomplish your invention at time of filing.

a. Difference From Enablement 
(A) For enablement courts look at if patent is too broad. In general, courts only take extra-hard look at description when inventor has changed claims afterwards. Otherwise, court applies lower enablement standard. Not statutory, but this is how it works in caselaw.

(B) WD: Arises in narrow subset – where you filed application than made changes to the claim that don't seem to map perfectly to your specification. You can make changes to claim on your own volition, if changes move too far from original specification, then bar to new claim. You can change description while you work w/PTO, but only in small ways, specifications rarely change.

b. Why? Concern that inventors were playing system, file early patent with token claim, drag feet waiting to see what else was going on in world, tailor-made claims to avoid prior art and latch onto other people's inventions.

c. Roof shingles (Barker): You don't want them to line up but to be staggered, workers waste time figuring out configuration of shingles. He automates the staggering by have worker choose certain sizes so you don't have to think about it.

(A) Problem: In picture in specification it shows you pattern of 8 shingles, yet he later added new claim saying method covers at least 6 shingles.

(1) Its true that a skilled artisan could figure out 6-shingle configuration from this application. But that's an enablement argument. This is a written description argument because what you claim must be described, even if it is obvious.

(2) If in claim he described 6 in original document, 1 line saying use 6 shingles, would that be sufficient? Do you need more info? How about a picture that shows six?

(B) Issue is claim didn't show up in beginning but later on. Worried about fraud.
( Maybe he didn't realize 6 would work until later.

(C) Key 
(1) Court essentially argues that he can't add a claim and that he will have to fight this out in litigation when the time comes. Court is not saying that it reads the other claims to not include this but that it won't decide at this time. 
(2) Procedural issue, he may have priority, but don't play the strategic game of making adjustment as we go.
(D)  Dissent
(1) This person is trying to give something back to public domain, he's saying at least six, so if you're less than six no problem. He's narrowing the claim.

(2) Response: If ( a broader claim, this is just narrower provision. If there isn't a broader claim, than he didn't have that to take to begin with.

2. Best Mode Requirement: If you know something special about best way to make invention, you have to tell us this. Okay if you are wrong, merely must say what you think.
a. Why?
(A) Avoids people using patent and trade secret system on same invention.

(B) Want to stop people from writing patent listing hundreds of embodiments, hide the ball. 

b. How?
(A) Objective component: Must be clear what sentence does this, can't sneak it in.

(B) Balancing: If best mode is totally economically infeasible, you have to balance the factors and give what you think to be, so if you think cheaper less effective way is best, you have to give it.

c. Lax req: As of date of filing, if you file today and you improve claims over next few months and discover better mode, don't have to update. One-time req. Might say best mode changes so quickly that BM is useless.

d. Most BM cases involve filing party starts to make product. Other party can take what they produced and compare that against patent. Try to argue minor differences are significant. Otherwise trying to read inventor's mind.


VI. Novelty: If, at the time of invention, the inventor could pass the novelty requirements in § 102 (a), (e), and (g), then the law considers her invention to be new and she could obtain a patent on it if other statutory requirements are met. 
( Inventor's own work can never destroy novelty
( Novelty provisions of § 102 are directed only to events that occur before the time of invention. Designed 
     to ensure the patent goes to the first person who invents.

      ( No patent if prior to being invented by the patentee, the invention was:

· (a) Known or used by others in this country

· (a) Patented or described in a printed publication in any country

· (e) Described in a granted patent or published patent application in US.

· (g) Invented by someone prior to the patentee who did not abandon, suppress, or conceal it, and this 
      is established by the original inventor during the course of an interference.

· (g) Invented by another inventor in this country and had not been abandoned, suppressed, or 
      concealed.

A. Standard for Anticipation: To defeat novelty, a single reference must disclose every element of the claimed invention either expressly or inherently.

1. Identity Requirement vs Inherent Anticipation
a. Identity Requirement: Anticipation can only be established by a single prior art reference which discloses each and every element of the claimed invention. (Structural Rubber Products 5).
( Claim interpretation: This makes claim interpretation as important for anticipation as it is for 
      infringement (C5P23)

b. Inherent Anticipation: To establish, extrinsic evidence must make clear that the missing descriptive matter is necessarily present in the thing described in the reference, and that it would be so recognized by persons skilled in the art. (In Re Robertson, Graves, Schreiber)
( Idea: The elements of the prior art may be described so that they seem quite different from 
     elements of the patent in question. Have to interpret prior art to see what elements were disclosed.

2. Other Concepts in Anticipation
a. Enablement: Anticipation must have some flavor of § 112 enablement.

(A) If a prior reference anticipates, it must bear "within its four corners adequate directions for the practice of the patent invalidated". If prior reference only offers starting point, it isn't anticipation. (In Re Seaborg)

(B) Don't just look for list of elements of invention, must be something more – substantial rep in full clear exact terms enabling skilled in arts person. (Seymour v Osborne, C5P29).

b. Infringement/Anticipation Symmetry: "[T]hat which infringes, if later, would anticipate if earlier"
c. Accidental Anticipation
(A) Courts are reluctant to have someone accidentally preempt persons deliberate hard work.
(B) Clear policy arguments in favor of not allowing AA. Nothing added to society by former.
( Tilghman v Proctor (25): Patentee invents new process for breaking down animal fat to make 
     it useable for soap and candles. Steam engines prior to this have used to use animal fat in 

           steam engine and it did this process yielding same product. Court finds there was no 
           anticipation.

· Court focuses on intentionality and lack of use of the byproducts.

· Can this be compared to natural substances that can't be patented because they already exist, e.g. pinecones?

3. Cases
a. In Re Robertson (C5P16) 

(A) Talks about first, second, third means for sealing, in specification talks in 2 ways

(1) 3 unique fasteners.

(2) Sometimes 3rd means is reusing 1 or 2. When I say 1, 2, 3 you may think I mean separate things, but they could be 1, 2, & 1.

When you read claim it looks like applicant is claiming (1), however in light of the specification it appears he's claiming (2).

(B) Majority: Finds Wilson patent does not disclose third fastening mechanism of claim 76, rejects idea that patent is invalid because the two fasteners in Wilson were capable of performing the same f() as a third fastener.

(C) Raider Concurrence: Because someone has already claimed a patent for the situation where the 3rd means is either the 1st or 2nd, claim 76 isn't different from Wilson patent.

(1) To survive this, applicant needed to claim only 3 unique fasteners.

(2) Raider frames argument as one of inherency, really just about claim construction.

b. In re Schreiber (C5P21): Previous Swiss patent for funnel that dispenses oil. New patent for dispensing a few popped kernels at a time.

(A) Why inherent anticipation analysis? Not anticipation because prior patent doesn't say size of funnel is size ( X numbers of kernels get through. In the new patent, one element has a limitation.

(B) Patent not granted because the shape of the top was inherently the size of the limitation laid out in second patent.

c. In re Seaborg (C5P23): Patent for element 95 (Am).

(A) Previous patent held by Fermi, discloses several nuclear reactors that create small amounts of Am. Patent doesn't explicitly mention this, just scientific fact. Thus, must do inherent anticipation analysis, not regular anticipation.

(B) Enablement
(1) Fermi didn't stress Am at all, we value the second patent. Doesn't appear to enable it given Am in Fermi reaction is hard to detect, surrounded by junk from reactor.

(2) However, new patent does point to Fermi's reactor as other way to produce it, partially resting on fact that Fermi didn't point this out.

(C) Infringement/Anticipation Symmetry
(1) Since Fermi patent did not anticipate, Fermi won't be infringing on  Seaborg's patent if he continues using his reactor.

B. References Under § 102(a)
1. What is generally at stake?
a. Trying to prevent patents from being issued on inventions that a prior inventor has already placed in the public domain.
b. Cost-Effective Choices: Want to make sure people make cost-effective choices in deciding to search existing technologies versus invent a new one. Patent system skews you towards inventing when close call btw that and search, so maybe we want to take patent system out of game when we want to encourage searching – preexisting stuff.

c. Competitor Problem: If someone does it on their own, now have to worry that rivals will search for prior art to invalidate patent. Rival only looks after the fact. What do we allow competitor to do? Don't want them searching just to invalidate other's patent.

2. Domestic Inquiry
a. "Known...by others"
National Tractor Pullers Ass'n (48): Prior art reference written on underside of tablecloth in inventors home (which can't be produced). 

(A) The prior art must have been reasonably accessible by the public. 
(1) Though "public" issued used in § 102(a), courts read in this idea. (C5P49)

(2) Want idea to be meaningfully given to society

(3) Evidence: Need proof, public availability provides this.

(B) [Prior art must be a reduction to practice (SA21)???]
b. "Used by others"
(A) Invention must have been used in the manner and context for which it was intended.
(B) The public must not have been deliberately excluded from accessing it. (C5P56)
Rosaire (53): Horvitz claims to have invented new method of oil prospecting in 1936, assigns claim to Rosaire. Admits that Teplitz-Gulf conceived of the methods of the patents in questions prior, but argues that they didn't apply for a patent until 1939, did not publish the ideas, and did not generally give the public the benefit of the work.

(1) Issue: Was Teplitz's work an unsuccessful experiment or a successful trial and reduction of method to actual process.

(2) Holding: Court finds Rosaire's patents invalid.

(3) Rationale: Work was done openly, in ordinary course of business activity. Statute does not require an affirmative act to bring the work to the attention of the public.

(4) Criticism 

(a) This was outside Palestine, TX how "public" is it really? How is this really different from Tractor?

(b) Better rationale of court would be that company didn't require employees to keep process a secret, thus information was free to spread to others.

3. Global Inquiries: Printed Publications ("patented or described in a printed publication")
a. "patented" ≡ Material that wouldn't be counted as being published in a publication. (SA23)

(A) Question arises wrt foreign countries that don't publish patents and give a different set of patent rights. If the system gives "meaningful exclusive rights" it counts as a patent.

(B) If invention comes under being patented but is not published, then only the claims of the patent count, as opposed to the entire patent (written description, specification, etc) for US patents.

b. Jockmus (C5P57): P holds patent on light bulb holder in shape of a candle. D asserts lack of novelty because P's invention was anticipated by a picture of a similar product in a catalogue distributed to French customers.

(A) Issue: Was the catalogue sufficient disclosure? Picture didn't show how one part was fastened, may have been different. Holding: Patent was anticipated

(B) Reasoning
(1) "We know of no rule that figures can never of themselves be an adequate anticipation of mechanical inventions, as of course they must be of designs, and we can see no reason for importing into the statute an arbitrary distinction, unrelated to its purposes." Finds possible differences to be equivalent.

(2) For purposes of the patent, printed publications are not limited to formal publications. Catalogue was distributed to the public, at least 50 and as much as 1000 went out, no evidence of disruption in distribution. 

c. The "publication" requirement: Printed info will be deemed a publication if in practicality, the info was accessible to the public, i.e. an interested American exercising reasonable diligence, could obtain the information.
In re Cronyn (C5P62): Undergraduate thesis describing applicant's invention had been available in main library of a college and in chem library, both of which indexed the theses separately from other books by author's last name. Court claimed this wasn't meaningfully public by not being generally indexed or cataloged. Not a sharp distinction from Rosaire.

d. A prior art reference (including a printed publication) cannot anticipate an invention unless the reference is enabling. Seymour v Osborne. (C5P29).

4. "before the invention thereof by the applicant for patent"
a. When the applicant files for a patent, she does not specify the date of conception, RTP, etc.

b. If PTO finds prior art that occurred before filing date, it will reject saying that it found § 102(a) prior art. Applicant then bears the burden of showing conception precedes the date of the prior art.

(A) § 1.131: File affidavit where you swear you conceived before potentially blocking prior art. Aren't required, but should supply evidence. Allows applicant to announce conception and reduction to practice. 

(B) Conception ≡ Conception in this context means you know all the elements and how they work. 
Doesn't require utility.

(C) Policy for conception: Idea this is good enough, we're not choosing who wins but whether the technology deserves protection under the patent system.

c. Why don't we ask for C and RTP dates on the application? Problems this leads to?
(A) Too costly for applicants, they probably don't know off hand.

(B) Too much paperwork for PTO

(C) Leads to strategic play, making up earlier and earlier dates.

C. Timing Issues: § 102(g) & the Basic Rules of Priority
1. § 102(g)(2) Prior Art
Inventor gets the patent unless: 
a. Someone else invented first and that person didn't suppress, abandon or conceal the invention.
(A) Law forgets all work before abandonment. So we assume date of filing is date of conception and reduction to practice.

(1) Ex. A invents in 1996. Abandons until July 1999 and resumes work and files in Sept. If B invented in 1997, B wins. If B invented in after July 1999, A wins.

(B) Suppression/Abandonment/Concealing v Lack of diligence (SA26)

(1) Diligence: Date of conception doesn't technically change. 

(2) Policy: Maybe we really want RTP, trying to vindicate that instead of first to conceive.

b. "In determining priority of invention...there shall be considered...the reasonable diligence of one who was first to conceive and last to reduce to practice, from a time prior to conception by the other."
(A) Reasonable diligence in reducing to practice
(1) RTP ≡ Inventor must have a constructed embodiment for performed process including the recited elements. (C5P153).

(2) If A and B are after the same patent, and A RTP first, regardless of whether B files first, A has a presumption of priority by virtue of an earlier RTP. B, being last to RTP, gets the patent only if:

(a) B can show she conceived first  and
( Must corroborate this, ideally a notarized lab notebook. (C5P100)

(b) B can show that her continuous diligence precedes A's date of conception.
( If B has a break in diligence, date of resumption must precede A's date of conception. 
     Seybold (C5P107).

(3) Thus:

(a) If A conceives first and RTP first, A gets patent regardless of diligence.

(b) If A conceives first, but RTP second, A gets the patent only if she was diligent in RTP from a date prior to B's conception. The effect is as though conception was when diligence was resumed when its prior to B's date of conception.

(c) If A conceives second and RTP second, A gets nothing, regardless of diligence.

(d) If A conceives first, A and B both have a lapse in diligence, and B RTP first, then B gets the patent unless A can show that she resumed diligence prior to B (and prove that she conceived first).

(e) If A and B conceive simultaneously but A is first to RTP, A gets the patent regardless of diligence.

(f) A and B RTP on the same day. First to conceive wins, regardless of diligence (C5P109)

i. Idea is that only the party last to RTP can be punished for lack of diligence.

ii. Last part of 102(g) states to consider both dates of conception and RTP. If date of RTP is same, makes sense we looked to conception.

(4) Justifications for breaking diligence: 

(a) Legitimate justifications: Poverty and illness, regular employment, overworked patent attorney. Treat these cases as though lapse in diligence never occurred. 
( Seybold: Poverty is a circumstance the court will consider but not a blanket excuse. 
     (C5P107).

(b) Not legitimate: Doubts about value or feasibility or work on other inventions.
Griffith: (ch5p145) Stopped working on invention while waiting for particular grad student to matriculate and attempting to get outside funding as a validation step. Court does not see this as a valid reason for stopping work, Cornell took its chances by not funding the endeavor.
( Rule: An unexplained break in activity of merely 3 months is sufficient to destroy 
     diligence.
(c) If after resuming you are second to reduce to practice, can't backdate your priority to date of conception or even the date you resumed work. You lose, unless you have a legitimate reason in which case date of conception is preserved.

(B) Conception does not require having a use in mind as it does under § 102(g)(1). Only need utility when you file.
(C) RTP and Trade Secrecy: If inventor RTP and keeps invention as trade secret, counts as abandonment of patent after certain amount of time. (how long???) This can be "cured" by resuming work, but other statutory bars preclude.

c. Logistics
(A) Use by 3rd party. A files for patent, gets it. B could file for reexamination, say A shouldn't get the patent because 3rd party C invented first and didn't abandon, etc thus creating prior art.

(B) Use by another inventor who thinks she was first: Suppose C is first to conceive, but hasn't reduced to practice yet (but has been diligent). A files for a patent. C now has one year to file and can get an interference declared.

(C) Burden of Proof: C5P98

2. § 102(g)(1) Interference
a. Interference ≡ Administrative proceedings heard by the Board of Patent Appeals. 

b. Occurs when:

(A) 2 applications being processed at same time, examiner finds them (this is the only way pre-publication applications will be found)

(B) Recently issued patent and pending application. Applicant has to show a prima facie case to proceed, and only has one year from issuance (§ 135(b)(1)). Can go to the federal court, but can't go back to PTO.

(C) Once PTO has goofed and issued 2 patents for the same thing, PTO's jurisdiction ends and federal court must resolve.

c. Conception
(A) Conception requires you to have the entire invention in your mind and have use in mind to satisfy utility. So if 2 people are fighting over a patent, date of conception is when you have a specific concrete use satisfying the utility requirement.

(B) Why? When choosing between two patent holders, need to decide what the touchstone is. Part of what we want is person to come up with beginnings of how to use it, that is the person who should be rewarded when 2 people are competing for the same patent.

3. What is definition of "invention"? Courts take 102(g) as the definition (conception, RTP, etc), helps define the moment of invention.

4. § 102(a) v 102(g)
a. § 102(a): known or used in this country (publicly)
(A) "known" may be merely conception and not RTP.

(B) Timing: Gives you the time when invention is public and invention is enabled

(C) Could be abandoned for 102(g) purposes but public enough to be prior art under 102(a).

b. § 102(g): conceived or RTP not concealed, suppressed or abandoned
(A) Must reduce to practice to get in under it.

(B) Timing: Gives you priority to date of conception, which would always be the same or earlier then 102(g) except when there is a break in diligence, abandonment, etc.

D. § 102(e): The invention was described in...
1. (1) A published application for patent, filed by another in the U.S. before the invention by the applicant
( Note the same write-up sent to a periodical may not bar if it is fully enabling but not RTP. Filing 
     patent automatically makes enabling write-up RTP.

2. (2) Secret Prior Art: A patent granted in the U.S. that was filed before the invention by the applicant.

a. Odd because this is secret, dates back to before it is was public.

b. Policy rationale is that the rate of functioning of the PTO shouldn't affect substance of prior art.

3. § 102(e) requires that each and every element as set forth in the claim is found either expressly or inherently described in a single prior art reference. (In re Robertson)

4. § 102(e) v § 102(g)
a. § 102(e)

(A) Effective date is the date of filing for the prior art patent application
(B) File patent, goes through PTO, patent eventually issues. Everything in application must avoid prior art as of filing date. Secret because rival would never know patent was filed until it was issued.

(C) Advantage: Requires only a description of the invention, might not be fully enabling.
(1) For anticipation, little enablement is built in compared to reduction to practice.

(2) Even if mentioned in patent application, to say there is anticipation we will have to show some degree of enablement, but not as much as we would to show RTP.

b. § 102(g): Conception can precede date of filing for the patent, so can date back earlier then § 102(e).

5. § 102(a) might not be as useful for published application, because § 102(e) dates back to the date of filing, whereas date of publication is 18 months later.


VII. Statutory Bar § 102 (b): Ensures timeliness.
A person shall be entitled to a patent unless the invention was patented or described in a printed publication in this or a foreign country or in public use or on sale in this country, more than one year prior to the date of the application for patent in the U.S.

A. General
1. May be triggered by events that happens after invention (or before) and may be triggered by the inventor's own actions.

a. (b) Prohibits issuance of a patent if the invention was described in a printed publication more than one year prior to the filing of the patent application

b. (c) Inventor abandons invention

c. (d) Foreign filing by the applicant more than a year before filing in United States.  

d. Thus, even if novelty is met, patent will be lost if subsequent events trigger one of the statutory bars found in § 102 (b)-(d).

2. Policy Rationales
a. Pressures you to file quickly

b. Ensures patent term is meaningful—you don't get rights from years before patenting.

c. Reluctant to remove ideas from public domain. Don't want to large a period to pass as people will come to depend on ideas. Don't like idea of getting people dependent on new technology then charging them for it.

d. Give inventors a year to think about whether invention is worth patenting.

(A) Conforms to our view of science—peer review window.

(B) Gives inventor breathing room.

(C) Inventor's legitimate interest in testing market's reaction to the invention to see if its chances of commercial success justify cost of patenting.

3. Distinguishing between what someone else does prior to filing versus what inventor does.
a. Ex. Japan allows you 6 months to file from your own disclosure but you are barred once someone else discloses.

b. Who would take advantage of grace period if you knew somebody else disclosing would destroy your patent right? Need to protect first.

c. Evidentiary problem: If I make invention public, need to make sure someone else doesn't "make it public" to create a bar to my patenting. Perhaps prove path of derivation showing that they didn't disclose merely because you did.

B. Invention cannot be "in public use. . .more than one year prior to date of application."
Egbert v Lippmann: Infringement on patent for corset springs.
1. Facts/Holding:  Inventor made corset and shown to friends several years prior to patent application. Court held it was irrelevant that corsets are "private" item and that only a few people knew about it,  public use bars patent.
2. Lichtman 
a. What court was really trying to say was that the completed invention was already known by the public. Invention went into universal use, now this guy wants a patent. The twist the law saying private use by girlfriend was public, but real concern  is taking something out of public domain. 
b. Some people think there is a use requirement to be barred under §102(b), Lichtman argues sticking it in a museum is enough. Just has to be known.
3. The inventor can make private, personal use of the invention w/o triggering § 102(b).
( A invents new mousetrap, uses only at home to catch mice, no § 102(b) problem.
4. Commercial use that does not reveal the invention to the public
a. If an inventor puts an invention into commercial use that does not reveal the invention to the public, then a one-year statutory period will be triggered.
(A) Metallizing Engineering Co: (C6P25) L. Hand noted that "a condition upon an inventor's right to a patent is that he shall not exploit her discovery competitively after it is ready for patenting, he must content himself with either secrecy or a legal monopoly." Goes on to note that there is a one year grace period, but if the inventor goes beyond that, "he forfeits his right regardless of how little the public may have learned about the invention; just as he can forfeit it by too long concealment."
(B) Ex. If invention is a machine or process and the inventor uses it to manufacture products for 
public sale. Examination of the products may not reveal the nature of the process or the machine. 
This counts as public use triggering the one-year statutory period.
(C) Ex. A invents manufacturing process on 1/95, but does not put it to use. In 1/97, A begins to sell products to the public. A now has until 1/98 to file for a patent.

b. 3rd party unrelated to the applicant makes secret use of the invention
(A) Prior to A's invention: § 102(a) problem for "known or used by others"
(B) After A's invention: No statutory bar under Gore.
C. Invention cannot be "on sale in this country, more than one year prior to date of application."
1. Prototypes
Rubiks Cube Case: 
a. CBS tried to argue that selling the invention caused statutory bar for being in public use more than a year before patenting. Court disagrees, saying you are allowed to sell a concept w/o hitting the bar but can't sell the embodiment.
b. In the alternative, CBS tries to claim inventor sold his only prototype, thus selling the embodiment. Court argued that he kept his prototype so not really selling embodiment. 
c.  Even if he hadn't kept the prototype,  court still would have likely decided the same way.
2. Sale prior to reduction to practice
a. An invention is on sale if: 
(A) The embodiment of the invention is the subject of a commercial offer for sale and
(B) The product is ready for patenting
                         ( Pfaff: Lays out this rule. Invention was subject to sale prior to reduction to practice and 
                              more then a year had past since the date of sale (less then a year btw RTP and filing). 
                              Court found invention was ready to patent at time of commercial offer, thus barred.
b. Different types of sales
(A) Invent, specific offer for sale, performance: Bar at time of offer
(B) Invent, general offer for sale, performance: Bar at time of performance since invention was not relied upon for sale. No profiting off of it and easier to administer.
( However: Invention makes it cheaper to make general offer, then the bar might be raised 
      earlier to time of offer.
(C) General offer for sale, invent, performance: No good answer. 
(1) Pfaff: Moment of invention raises bar, that item is now subject of a commercial offer.
(2) However, a general offer for sale might not be fairly read as a "commercial offer for sale" since the inventor isn't selling the exact invention. Thus maybe it should be at performance.
(D) Specific offer for sale, invent, performance: Pfaff, bar raised at time of offer.
D. Experimental Use: Something that looks like public use/sale isn't when you can satisfy experimental use exception. (SA29).
1. An inventor can sell for experimental purposes w/o incurring bar.
City of Elizabeth: Wooden pavement prototype installed on public highway where it was tested 6 years prior to filing. Very obvious and public use, but court finds no bar due to experiment.
2. Federal Circuit factors
a. How many prototypes?
b. How long did testing go on?
c. How good of records were kept on testing? Data?
d. Where there confidentiality agreements?
e. Control over use of experimental invention
3. Potential Issues
a. Court doesn't explicitly mention it, must the inventor must be testing something that she claims.
b. If inventor works on invention and files patent, must mention the things she is going to claim. 
If she is done with all of the things she is claiming and is testing something else, 1 year clock 
starts for bar.
c. Could invention have been tested more quietly? Federal circuit ignores fact that experimentation can be secretly done – laboratory testing.
4. Lichtman: Ideally we should distinguish between objective and subjective experimental use. 
a. If invention works but you are experimenting to confirm this, should allow this to be experimental use as there is only constructive RTP, not subjective.
E. Third-Party Statutory Bar Activity
1. Baxter: Blood centrifuge. Baxter sues COBE for infringement, COBE seeks SJ because 3rd party publicly used the invention more than one year prior, raising § 102(b) bar.
a. Main issue, was use in lab experimental, even though the inventor wasn't experimenting, but rather someone else?
b. Court finds use in lab public—no guards or security. No confidentiality requirements.
2. If A sells product of secret invention, this does not preclude B's right to patent the device.
Gore 
a. Cropper (in NZ) develops and constructs machine for producing tape. Offers to sell to Mass. company, nothing happens. Sells to Budd under agreement that he must keep the machine a secret. Employees signed confidentiality agreements. No attempt to hide the machine though. Sells the tape made by the machine.
b. Public use
(A) Dr. Gore invents same machine, wants to patent. Court finds that Gore can patent because Budd only sold the tape, not the process that was used in producing it. Because activity was secret, there was no public use.
(B) Policy-based distinction btw inventor's sale and 3rd party's sale: Cropper's sale of tape created a § 102(b) bar for Cropper only. Idea is that 102(b) is primarily concerned with policy—encouraging an inventor to enter the patent system promptly.
c. Cropper's offer for sale: Was invention on sale in US by NZ citizen offering to sell machine to Mass company?
F. Invention cannot be "patented or described in a printed publication. . .more than one year prior to the date of application for the patent." See § 102(a), both are treated the same. 
G. Different ways this plays out
1. Things applicant does before she invents that causes statutory bar: Nothing
2. Things applicant does after she invents but before filing
a. Invent, RTP, keep secret
(A) Ex. Invent widget, keep secret, enjoy only at home.
(B) 102(g) bars if someone else is trying to patent who has priority over you by virtue of your abandonment. 102(c) issue. No problems, however, under § 102(b).
b. Invent, RTP, public use:
(A) Ex. Invent mousetrap, display at museum enabling person skilled in art to deduce principles.
(B) Barred after 1 year under 102(b) for public use.
c. Invent process and keep secret, product is not secret but not informing: 
(A) Ex. Method for pasteurizing milk, milk is indistinguishable from regular milk and on sale.
(B) Even though this seems like (a), this is treated like public, non-informing use so 102(b) statutory bar kicks in for public use after a year. Don't want to have a de facto longer patent term. 
(C) This is NOT an offer for sale since inventor was not selling any embodiments of the invention.
(D) Ex. New fuel-efficient engine, implement it in taxi cab and use it. Cab more profitable than avg.
d. Invent process and keep secret, non-informing offer for sale
(A) Ex. Offer new fuel efficient engine for sale to neighbor, non-informing, no sale in end.
(B) 102(b) public use bar triggered by offer for sale, starts 1 year clock. 
(C) Not the case if this was merely a general offer for sale (where clock starts at time of performance), then issue of whether general offer was lower bc of invention kicks in.
(D) Perhaps 102(c) is better way to think about this?
3. Things a 3rd party can do before applicant invents
a. Secret use by 3rd party prior to applicant inventing.
(A) Ex. A invents mt in 1990. B invents same mt in 1988, uses it near workbench. Mt design is informing.
(B) No prior art problem by 3rd party under 102(a) because mousetrap was not known or used by others. No 102(b) problem either.
(C) Potential 102(g) prior art problem, though B may be deemed to have abandoned, etc her work.
b. Non-secret, informing use by 3rd party prior to applicant inventing.
(A) Ex. A invents mt in 1990. B invents same mt in 1988, keeps it outside house, mt is informing.
(B) Barred immediately under 102(a), invention is "known or used" by others.
(C) Possibly a public use under 102(b), maybe prior art under 102(g) absent abandonment, etc.
c. Non-secret, non-informing use by 3rd party prior to inventor's invention.
(A) Ex. A invents engine in 1990. B invents in 1988, installs in cab, lets brother earn living w/it.
(B) Blocked under 102(a) for prior public use by others. Blocked immediately. Policy is 3rd party is the first real inventor.
d. 3rd party has secret process, non-informing, non-secret use.
(A) Ex. A invents milk process in 1990. B invents in 1988, sells milk in 1989 keeping process secret.
(B) 102(a) bars because 3rd party is first to invent, invention known by others.
(C) If B invents after A but commercializes first, B loses.
4. Things a 3rd party can do before applicant files
a. Non-secret, informing use of invention.
(A) Ex. 1990 A invents mt. 1992 B invents, puts on display at museum.
(B) 102(b) bars if a year passes between B's display and when A files for patent.
b. 3rd party has secret, but non-informing offer for sale.
(A) Ex. 1990 A invents mt. 1992 B invents, non-informing offer for sale to neighbor.
(B) 3rd party offer for sale that is not informing does not act as a statutory bar (Gore). 
(C) Different then if you offered for sale in which case under Pfaff, if invention is ready for patent and ( a commercial offer for sale, 1 year clock starts for 102(b).
(D) Compare with 2d. Idea is that A was not cheating on patent term here.
c. 3rd party has secret process, non-informing, non-secret use
(A) Ex. 1990 A invents milk process. 1992 B invents and starts selling milk. Process secret, milk sold openly.
(B) This is non-informing 3rd party art, and thus, does not bar A.
(C) Would be barred if A offered for sale as public use under 102(b).
(D) Compare to 3d, only difference is here A is first to invent. Otherwise 102(a) problems.

VIII. Nonobviousness § 103 (SA33)
A. Introduction: Even if invention passes 102, no patent if subject-matter as a whole would have been obvious at of invention to a person of ordinary skill in the art at time invention was made. Most significant hurdle faced when filing. Unsettled area of law.
1. Guidelines (Graham v John Deere)
a. Identify the prior art and compare to invention. Note the differences.
(A) What counts as  prior art? Everything from 102:
(1) Prior inventions that were “known” or “used in the U.S. [§ 102(a)].
(2) Patents and printed publications anywhere in the world [§ 102(b)].
(3) Earlier inventions made in the U.S. and not abandoned, suppressed or concealed [§ 102(g)].
(4) Information contained in prior patent or published patent application [§ 102(e)].
(B) When is prior art pertinent?
(1) If is from a relevant or analogous art, regardless of the problem to be solved OR
(2) Even if not from the same field, it is reasonably related to the particular problem from which the inventor is involved.
b. Were the differences as a whole obvious at the time of invention to person of ordinary skill in the art?
(A) Hindsight Bias: To invalidate patent there must have been obviousness at time of invention, can't just argue that it is obvious now.
(B) Person skilled in art: Depends on what ordinary skill is in the art. (SA34)
(1) What is the average education level of person in this area? High school? PhD  w/10 yrs of experience?
(2) What is the general types of problems person skilled in art would be exposed to?
(C) While an invention can only be anticipated (shown to lack novelty) through a single prior art reference containing all the elements of the invention in the same arrangement, obviousness can be demonstrated by combining two or more pertinent prior art.
2. History
a. 1966: 3 SC cases attempt to interpret. Graham v John Deere parsed 103 saying objective evidence is needed of what is nonobvious, but didn't apply its own test.
b. Later SC cases claim 1952 patent didn't change anything.
c. Now: Federal circuit has reinterpreted the original 3 SC cases.
3. What nonobviousness is not:
a. Complexity: Not a good proxy for nonobviousness, simple things can be nonobvious. 
b. Not a flash of genius: Inventor could be steadily working, no eureka moment.
c. Just because something is obvious to try doesn't make it obvious. Ex. 100 possible compounds that might work, not obvious which one.
4. Secondary Factors and Objective Evidence
a. In absence of good affirmative, 2ere factors become especially important. Graham suggests it, but doesn't apply it in the case.
(A) Federal Circuit: Must look at 2ere for objective evidence.
(B) Not perfect, someone will always be first yet this doesn't make invention nonobviousness.
b. Objective Factors
(A) Commercial success: Inventor's invention sells well, pointing towards nonobviousness (though could just be marketing prowess – pet rock).
(B) Did others copy you—wouldn't need to if it were obviousness. Still need to show nexus, someone may have copied you merely because lawyer said it was okay.
(C) Commercial acquiescence: Was inventor able to license the invention? Must show nexus. Did others invent around the patent?
(D) Long-felt need: Was there a long-felt need for the invention?
(E) Did inventor receive awards for innovativeness? Did others think that invention couldn't work?
(F) Best objective factor: people failed who tried to invent it.
c. Nexus: Must demonstrate a nexus between the objective factor and the issue of obviousness.
B. Connection to § 102
1. Why have § 103? Creates zone around patent where nothing can be patented
a. Idea that obvious improvements are not valuable. However, sometimes obvious improvements can be expensive to develop.
b. Way of keeping others from infringing patent.
c. Reduces # of patents, eases system.
d. More things for someone in future to claim. Idea is small steps aren't patentable, give broad rights.
2. 103  is more nuanced by requiring that prior art falls into an analogous art category. 
a. Idea is prior art should be based on standard of person skilled in the art. 
b. Ex. Popcorn funnel for oil is in different art area than popcorn.
c. Includes prior art relevant to the problem you are trying to solve.
(A) Ex. Heat dissipation of light bulb, both lighting and heat dissipation are relevant categories of art.
(B) Ex. Latches on laptop. 103 category: other portable computers and other latch references.
3. 103 lets you take prior art references in combination whereas 102 must be single reference.
a. In re Winslow: Court argued take 102(b) art, imagine it is hanging on wall in inventor's lab. But that doesn't take into account that there could be a ton of art, that there is value in combining prior art references.
b. If prior art teaches NOT to combine things that are combined in the invention, that strengthens inventor's case. Ex. experts say don't use chem X in battery, you did. That shows nonobviousness.
C. 102(b)/103
1. Problem 
a. Foster

(A) Want to have the idea of "close enough" in 102(b). That "invention" should mean the exact same thing or something really close.
(B) But if we read 102(b) like that, then we would want to do this for 102(a), causing 102(a) to fully overlap with 103.
(C) Some courts get around this by reading 102(b) strictly, but then loosen 103 to apply not just to the moment of invention but also the moment of statutory bar. But 103 says "at time invention was made", which isn't the time of statutory bar. Court tried to claim that that phrase applies to qualifying pool of people skilled in the art. Stupid.
(D) Court of Customs: 102(b) one-year statute of limitations will begin to run once information enters the public domain that, while not anticipating the invention, renders it obvious. It is not necessary that such information be found in a single embodiment, or reference, such as a new publication, patent or invention. Sufficient that the new information, when combined with already existing information and/or ordinary skill in the art, renders the applicant's invention obvious.
b. Now: Idea of 103/102(b) prior art. A year before filing, ask is there any reference that anticipates and is there a reference that renders the application obvious. So we're either misreading 102(b) or 103.
(A) We misread 102(b) "invention" to mean same invention or something obvious to it. Being read differently than 103. 
(B) For actual anticipation under 102(b), have to ask the same thing.
2. If the time between conception and filing is less then a year, not much to worry about. 

                                                                      Novelty
<---    102(b)                                        102(a)
<---       103/102(b) art                              103
                                                                      102(c)
                             102(G)
----------|--------------------|----------|----------------|----
          |                    C  (d)    RTP    (a,s,c)    F
          |________________________________________________|
                         (one year before filing)

a. In this case is there anything that comes in under 103/102(b) that wouldn't come in under novelty?
(A) §102(b) adds "on sale" provision. Can something be on sale but not "known or used by others" under 102(a)?
(1) 102(b) includes inventor's own stuff, whereas 102(a) doesn't, but inventor can't put something on sale before she conceives. However, if prior to invention A, inventor conceives invention B that renders A obvious and is used publicly, it would only come in under 102(b).
(2) 3rd party could put on sale the invention, it may not be public enough to qualify under 102(a).
3. If  the time between conception and filing is greater than a year:

Novelty
102(a)
103
102(e)             102(b)
102(g)         103/102(b)
-|---------|-----------------------------------------------|----
 C         |                                               F
           |_______________________________________________|
                         (one year before filing)

a. Ex. X invents mousetrap on 1/97. At time of invention, mousetrap is novel under §§ 102(a), (e), and (g) and non-obvious w/in meaning of § 103 and qualifies for patent. On 1/98 an article is published which combined with other info existing in field renders mousetrap obvious. Statute of limitations begins to run, X now has until 2/99 to file for patent or face being barred.

D. Strategic Disclosure: Idea where instead of thinking of prior art as sitting out in the world, think of it as companies making conscious and strategic decisions to put stuff out as prior art to prevent other companies from getting patents. 
1. Assumptions 
a. A and B racing to patent, B would rather nobody gets the patent than A get it. 
b. Assumes no way to contract around this.
2. Can you be behind in race to conceive and still create prior art?
(A) 102(a) no good, need all elements
(B) 102(b): What if B can't RTP but puts most theory in article, not fully enabling. A printed publication under 102(b) might combine with 103 to make A's invention obvious, starting a 1 year period for A. If A files w/in a year, no dice for B. If more than a year passes, A can argue that it wasn't really obvious because B couldn't RTP.
3. B is second to conceive, first to RTP, thinks A is slow and wants prior art to start the one year 102(b) clock w/o A realizing that it is running.
a. If A were diligent, etc.,  A gets it under 102(g). But what if A is lazy?
b. If B publishes, B can still patent w/in the year. 
c. B could get in under 102(b)/103 w/o A even noticing, even if A has already conceived.
(A) B could find one customer to sell to.
(B) Secret Disclosure: B publishes article in obscure German periodical, 3 years later tries to patent. Will reveal publication only if it looks like she won't win so nobody gets it.

IX. Infringement (SA43)
A. § 271(a): ...whoever without authority makes, uses, offers to sell, or sells any patented invention, within the United States (or imports into the US) any patented invention during the term of the patent therefore, infringes the patent.
1. "patented invention": What is it? Claim interpretation, how do courts understand the scope?
2.  "makes, uses, offers to sell": This is very broad, can you use a patented invention you buy? What about experimenting and repairing?
a. Nothing says you can do what you want with your own invention, says what others can't do.

b. Intent doesn't matter w/patents.
( Ex. Ford makes a car illegally incorporating tire invention, turns out it is patented. You buy car 
     and are now own illegal invention. Ford didn't have power to give you implicit permission, you 
     can actually be sued for patent infringement here. But you would then countersue Ford under 
     warranty.

c. First sale ≡ Once patent holder sells particular embodiment, her rights in that embodiment are exhausted. Allows for resale.

d. Repair/Reconstruction: You change bag on vacuum cleaner, one of the patented elements. There have been cases where patent holder argues you can't do that. Cases where people buy used patented goods, swap out all elements sell them as refurbished.

3. (b), (c) look at 3rd party liability issues.
B. Claim interpretation
1. Unlike copyrights or trademarks you have to claim up front.
a. Seems like this should make life easier by explicitly delineating rights.
b. In reality, it isn't.
(A) Difficult to write claims. Must be narrow enough to avoid prior art,  broad enough to get rights to things you don't know yet, plus racing aspect.
(B) Many patents aren't litigated, so hard work is in vane.
2. General rule: Look at express language of claim but interpret in light of a lot of things.
a. Intrinsic evidence: Best evidence, includes drawings, specification and prosecution history.
b. Extrinsic evidence
(A) Dictionaries and treaties: Definitely can use them, second-best evidence. 
(B) Courts have allowed articles in the field, testimony of inventor as to what she accomplished, expert testimony though these things are weighted less then intrinsic evidence and dictionaries.
c. Any evidence can be used for court's own education.
3. Comparing claim to accused process (Autogiro)

a. Literal Infringement: Construe claim then ask is every element and every limitation on every element in accused device. 

b. Doctrine of Equivalents: May broaden patentee's right to exclude somewhat beyond the literal language. thus, courts may broaden and narrow patent rights to give the patentee something different than what is literally claimed. Courts cannot, however, broaden or narrow the actual claims.

c. Specification: Courts refer to it do define words and phrases used in claims, but limitations may not be "read into" the claims from the specification. Fuzzy line, see Unique Concepts
d. Reverse Doctrine of Equivalents
C. Judge v Jury (Markman, Ch8p13)
1. De Novo: Court gets to construe claims reviewed de novo, so fed cir doesn't have to refer to what district court did.

a. Juries do not get to construe the claim.

b. Why not?
(A) For analysis, much turns on what person skilled in art understands. Both sides bring their skilled in art people, and judges don't know much so they're weighing testimony from competitors. 

(B) If that is true, judge is weighing testimony, sounds like classic jury question - evaluate somebody for credibility. judge can't possibly know what experts know. Odd this winds up going to judge as policy matter (though it makes sense historically).

2. What's left for the jury?
a. Juries still get to match construed claim to accused device.

b. Non-obviousness analysis left to jury

3. Why is Markman an important decision?
a. Juries vs judges do handle things differently. Lemelson would go after foreign patent holders, play off juries bias—see, I'm a nice American small inventor.

b. Drastically changed flow of patent litigation: Most courts do a summary judgment style Markman hearing where they sit down and focus on construing the claim. Lots of court open up patent lit with few days exclusively on how do we construe claim, judge rules, and that's the framework for rest of case.

(A) Downside 

(1) When you have a claim construction hearing upfront, court may miss out on valuable information.

(2) If you do M hearing at end, people testifying on stand both about what claim means and their interpretation of matching. Judge might be slamming one set of experts and supporting another, confuse jury, use their analysis for comparison.

(B) Upside
(1) Many parties settle after the hearing. 

(2) Makes it easier to have direct appeal: With M hearing, appeal that, then let jury hear evidence, rather than have to do entirely new trial.

D. Unique Concepts v Brown (Ch8p27): Framing case: 2 straight pieces to form angled piece vs angled piece. During process, claim was narrowed. Claim 9 was dependent on claim 1, claim 9 struck, doesn't that mean 1 could encompass 9?

1. Dissent: If you read specification they talked about 2 separate pieces as one way of embodying invention, cut of edges fit together. Then you realize when inventor talks about corner piece they mean either 2 straight pieces or one angled piece.

2. "Do it your selfer": evidence that what makes invention special is it is easier for the novice. 

a. Claim doesn't say anything about this.

b. Specification shouldn't be used to find limitations on claim. Allowed to go back to specification to interpret, but some line, spectrum, finding limitation on specification and porting it to claim is prohibiting.

3. Majority: you don't immediately jump to specification, first think of plain meaning of words.

a. Estoppel worry: Narrow things get through easily, then attempt to claim broad rights.

b. Rule: if you use plain English, people won't realize they should go to specification so court holds him to his plain old language. You can make up your own terms but not ones that are misdescriptive or confusing, that seem clean on their fact but aren't. Maj worried if you use what seems to be clean words, can't warp definitions.

E. Cannons
1. Remember, the preamble generally not limiting but is if it "breathes life and meaning into the claims."
2. Term must be accorded consistent meanings across claims and in uses of word in one sense to avoid prior art and in another to sense then something is an infringement. Can't walk both sides of the fence.

3. Doctrine of claim differentiation. If patent has mult claim read them in way such that they do different work.

4. Claims should be interpreted such that preferred embodiment falls w/in their scope. That bit will have extra weight, try to way claim so you get your preferred embodiment. Makes best mode important.

5. Choose narrow construction when faced btw ambiguous question of broad v narrow.

6. Claims should be interpreted as to preserve their validity.

a. Seems useful to patentees, but in reality always useful to infringers—better read these claims narrowly so I'm not in trouble because if I am in trouble odds are there is prior art rendering this patent invalid.


X. Doctrine of Equivalents

A. Formative Cases
1. Graver Tank: Unionmelt has patent for combination of alkaline earth metal silicate and calcium fluoride.

a. Products

(A) UM product contains combo of silicates of calcium and magnesium.

(B) Lincolnweld: Uses silicates of calcium (in small quantities) and Mg instead of Mn.

b. Prior Art: DOE may not be used to expand a claim to include structures described in prior art.
(A) Miller: Mn in prior art for use in welding fluxes.

(B) No evidence that Lincolnweld was developed from independent research or experiments.

(C) If its general knowledge that x and y are interchangeable after the patent, should they get protection to M + Y if they claimed M + X.?
( L: worry that with technical adv, people can use entire patent, swapping out one ingredient.

c. 2 Dimensions 

(A) Pioneer invention vs not?

(B) Did UM know it  about Mg/Mn equivalence at time of filing or was it a later advance in technology?

(1) Best mode: we're remarkably permissive, don't have to update it.

d. Function-Way Result Test ≡ Ask, does accused product perform substantially the same f() in substantially the same way to obtain same result. 
( Fed circuit has begun to back away from this rule.

e. Why don't we encourage these people to write a better claim?
(A) Maybe we're weighing injustices, shame to see their patent completely destroyed with DOE

(B)  Sometimes, though not here, technology wasn't known at the time of writing.
( Ex. Don't want velcro attaching eraser to give someone rights to pencil.

2. Warner-Jenkinson: Hilton-Davis develops ultrafiltration process, added limitation of at a pH of aprox 6-9, to avoid prior art at above 9.0. W-J develops process with pH of 5.

a. Holding: Remands to Federal Circuit to determine reason lower bound was set. 

b. Does DOE survive 1952 act? Court brushes away first 3 args because they've been rejected before.

(A) DOE is inconsistent with statutory req that patentee "claim" invention covered by patent

(B) DOE circumvents patent reissue process

(C) DOE is inconsistent with primacy of PTO in setting scope of a patent through prosecution.

(D) DOE is already in § 112 para 6. Court replies

(1) § 112 allows analysis ands literal and so Markman applies and not Festo.
(2) § 112 is just reversing an old case forbidding this language
c. All Elements Rule ≡ Have to apply DOE element by element and ask, is there an equivalent for this element?
(A) Claim for fork: (1) Fork comprising handle with (2) 4 tines attached.

(B) Suppose drafted as 5 elements: comprising handle, tine one, tine 2, ...

(C) Shrimp fork: 3 tines, is equiv to fork claim? 

(1) First claim handle and 4 tines so equivalent.

(2) Second claim: Not enough elements to match up with all 4 tines, only 3, so not equivalent.

d. Ginsburg concurrence: Watch out for retroactive changes to law, lots of patents already issued that thought rules were something else. If we change them we'll undermine expectation of the parties.

B. § 112 para 6
a. Means for performing a specified f(). Specification must describe best mode, but if patent says "means for fixing", claim will be assumed to encompass what you specifically tell us plus equivalents therefor.

b. What does this give us that we can't get under DOE? L's theory—it's merely shorthand, it actually doesn't give anything special in terms of protection.
Ex. Knowing that literally velcro isn't means of affixing based on 112, do we need more info for determining whether doc of eq applies?

(A) Timing 

(1) § 112: Looks at equivalents at time of filing

(2) DOE does both at time of filing and afterwards with technological advances.

(B) Equivalent Function 
(1) § 112: Requires equivalent function (adhering)

(2) DOE: Requires "substantially the same" function, more liberal

(C) Equivalent Structure: Required for both DOE and § 112.

(D) DOE may disappear because of estoppel, § 112 never does.
c. Scope of Patent v Infringement
(A) In terms of what you can get a patent for, novelty and obviousness takes some stuff away

(B) For what infringement is, if another invention literally infringes (~novelty) or is the same under DOE (~obviousness), infringement will be found.

d. Method patents are often under § 112 umbrella. 

e. Options for language
(A) Means of affixing (nail as best method).

(1) Literal Analysis. Messiness - identical f(), equiv structure, so more than nail. Maybe screw, bolt., not velcro.

(B) Would they be better off saying nail as an element?

(1) Literal: Here it is just the nail.

(2) DOE: Probably won't do anything

(C) Use word "fastner", specification says nail those skilled in the art will recognize that any type of fastening device could be used.

(1) Broader: Not clear fastener limits your structure like  § 112 p6, maybe someone will just think of f() performed, giving us glue. 

(2) Maybe a risk that it will be read more narrowly? L thinks not...

C. Estoppel
Festo: Big issue—How does history change our use? If you disclaimed something can you get it back through DOE?

1. W-J creates prosecution history estoppel for patent that is amended for "a substantial reason related to patentability".
a. Amended claims that are for purpose of avoiding prior art: This clearly should be estopped under W-J, falls within scope of earlier cases.

b. Claims amended for other reasons: Are you going to be estopped from DOE every time examiner says you need to do X, no matter what X is?

(A) Lots of reasons why you might make change besides dodging prior art (avoiding 101, 112 problems).

(B) Can you argue, when you make a change you refocus on language, so literal language better be good?
(1) How does that help with advances in technology? Maybe we should do that and ask "was it foreseeable?" if you touched it again, hold to literal language unless something impossible to foresee: change in technology, etc.

(2) Problem: We'll now fight over what was foreseeable.

(3) Do you really look at it all that more closely when you make a change, want people to take all claims seriously. Seems like assault on DOE, doesn't really seem related to making change.

(4) Do we care about substance or procedure?

c. Another idea: Every time you make a change that narrows claim, you narrow what qualifies for DOE.

(A) You gave it up, can't get it back.

(B) Gives notice, lets you know what to worry about, don't have to decide why they made a change just need to know that they narrowed. 
( Problem: But that only shifts argument to whether they narrowed vs "redefined" or "shifted". 
     So perhaps doesn't save us anything.

2. Should voluntary claim amendments create prosecution history estoppel?

a. If you change voluntarily why is that different then getting it right the first time?

b. Court: Treats the same as other amendments. If a voluntary amendment narrows the scope of a claim for a reason related to the statutory requirements for a patent, this will give rise to prosecution history estoppel. i.e. evidence of a surrender of subject matter
3. If estoppel history is created, what range of equivalents are available under DOE?

a. Orig filing was sloppy—said steel with tensile strength of 8.0. Now claim is sloppy and amended to read steel w/tensile strength of 7-9. Amendment (7-9) triggers bar. Can person claim plastic under DOE?

b. Fed says this creates absolute bar, Lichtman thinks they mean to say you don't apply DOE along dimension sacrificed (but not clear this is the case from what they said).

4. What if we don't know why claim was amended? Then prosecution history estoppel completely bars application of DOE.

5. [Court doesn't get to fifth issue].

D. Misc
1. Equivalent under DOE must still be valid, no prior art problems

2. Forum shopping: While DOE is seen as a jury issue, claim construction under Markman is for the judge, so how you cast the issue makes a difference.

3. Reverse Doctrine of Equivalents: Some things that do fall under your literal language you don't get. Imperfection of language caused infringement, but on equitable grounds shouldn't be this way. Fed circ has never applied.

XI. Legal Process

A. Pre-Issuance PTO Issues
1. Ex parte (Inventor and the examiner) are going back and forth, no rivals. Turn in app, get response to initial filing. Maybe its certificate of allowance, more typically some form of rejection either in whole or part.

2. Inventor's options
a. Abandon application (not same as § 102(c) abandonment)

b. Respond and fix defects (perhaps add limitations to claim)

c. Fight rejection, say it was improper. Rule 131 or otherwise (show distinctions btw you and prior art, etc).

3. Inventor get 2 rounds with PTO (2 responses). After Inventor has made second response, she gets either a final rejection or allowance.

a. If Inventor gets allowance, pay fee, they'll take abstract, some drawings, broadest claim, publish in gazette. Takes Inventor's documents and put in file wrapper.

b. Final rejection 

(A) Inventor could give up.

(B) Inventor can file continuing application, which involves paying fee to get 2 more chances to file 131, make changes, etc. Discourages endless rounds of iteration

(C) Splinter: Inventor could splinter patent app. Maybe examiner thinks you have more then one invention on application. They can place restriction on app for you to break it up. "divisional applications"

(1) Maybe examiner isn't expert in 2nd invention area - want another examiner to look at that

(2) Get proper fees, prevents cheating

(3) For identification of patent

4. Continuation in Part: Maybe Inventor has improved invention, want to mix new stuff into patent app. Shifts filing date, new info is affected at time you gave it to PTO so you don't get benefit of old filing date, but new material can be added. Old info keeps old date.

B. Appealing PTO decision
1. One path: Petition to PTO commissioner, traditionally used for procedural problems made by examiner.

2. Second path: Fight more about claims. Go to board of patent appeals and interferences, panel of judges w/in PTO regarding claim issues - enablement, lacked novelty, utility, sm, etc.

3. After doing either path, you can enter court system via appeal.
a. Going from board: Can go to district court for DC circuit - fact-finding, etc. Or, go direct to fed circuit if you wish to bypass fact-finding - saves money.

b. If procedural issue: any district court in US - fighting agency over procedural agency issue. Appeal goes to fed circ. Fed circuit appealed to SC.

C. Post-issuance Interactions
1. Certificate of Correction
a. Easiest case: Obvious typo. Specification says "higf" instead of "high". Point it out, gets fixed. Free if PTO's mistake, honest mistake modest fee.

b. Harder case: Typo that isn't clear. Know its a typo but don't know what correct answer should be. pH from Z to 9. If you are trying to broaden your claim w/o adequate notice, can't use this mechanism. This is really aimed at clear typos where you know what it should read.

c. Hardest case: Typos that aren't obvious at all, pH of 3-9, you meant 6-9. People will rely on typo, think patent is invalid and infringe.

2. Disclaimer: Inventor tells patent office to reissue patent, take away claim she originally had. 

Only reason you'd do this - want attorney's fees in infringement suit, they'll ask are all the claims in your patent valid. Want to survive that analysis, before you sue for infringement, disclaim claims you know are not valid. If you knock out claims known to be invalid, you can get attorney's fees.

3. Reissue: Reopens conversation, go through whole process again. Used if Inventor wants to strengthen/consolidate patent. 

a. Use it before litigating, clean it up (to get attorney's fees for infringement, can't have any invalid claims). Or use it before entering licensing agreement.

b. Only open if you can point to error in original prosecution. Problems with patent at issue.

c. Easy ex: error in specification or drawing. Courts, ironically, say error occurs when claim claims more or less then it should. Very broad, opens this up to a lot of stuff.

d. Courts now trying to renarrow this. 

(A) Cases that say if your error is trying to solve enablement/112 problem, can't reissue.

(B) Fed circ also said no error if claims entirely anticipated under 102(a) [lost all claims, not just few].

e. If attempting to reissue and broaden claim, can only do it w/in 2 years from date of issuance. 

(A) Not allowed to recapture anything you gave up in course of initial prosecution. 

(B) Consistent w/estoppel, can't reopen old battle. Should have appealed before.

f. Ways in which reissue is different from initial litigation
(A) Limited in some tools - no continuation in part, can only start from scratch

(B) Reissue is all public unlike initial prosecution. Announced in PTO gazette, 2 months delay to give rivals time to come forward with info that PTO could use to narrow or reject your patent.

(C) Intervening Rights: For time period btw for new protection being sought.

(1) People who infringe on reissued claims, if they do it before reissued patent is issued, they are immune.

(2) Equitable intervening rights: if someone makes big investment during intervening years, court may allow them to continue after it issues bc they sank in $.

4. Reexamination: 3rd party or PTO could do this. Meant as a means to give 3rd parties an inexpensive means of challenging patents.
a. Used for prior art challenges by 3rd parties:
(A) 3rd party can challenge patent on prior art grounds from another patent or printed pub

(B) 3rd party request reexamination, pay $2K fee, examiner. takes new docs showing prior art offense. Examiner asks if it raises a sub new question wrt patentability of patent.

(1) Can't bring up closed issues.

(C) 3rd party had no involvement after initiating until 1999. 3rd party now gets to respond, what they think right adjustment is to the claim language. All parties involved.

b. Fast: By statute, reexamination must move a long faster then new app, goes to top of examiner's work load.

c. Reexamination always about narrowing, reissue can be to broaden.
d. Problems
(A) Estoppel: One part of reexamination is estoppel for 3rd party from later raising same issues in court or issues you could have raised, but didn't. Big downside for 3rd party

(B) Jurisdiction: Even worse, 3rd party doesn't have right to appeal to court. Only internal appeals.

(C) Consequently, rarely used, prefer courts.

5. Interferences 102(g)(1): After patent issues, w/in 12 months if someone files claiming they are first to invent, can drag you back to PTO.

XII. Policy

A. Empirical Information [see handout]

1. Where should be put $ into this system: More spent on better examiners? More spent on better litigation for the hard cases?

a. 18 hours total spent on average per patent.

b. Should there be an increased presumption of validity? How many patents are put to use?

2. Need better access to non-patent prior art: Magazines, journals, archives of technology. Only 3 prior art references on average for software patents in late 90's.

B. Patent Terms
1. Used to be 17 yrs from date of issuance. 
Changed because:
a. It didn't count against inventors who dragged out prosecution. Lost incentive to move quickly.

b. Submarine patents: File patent for establishing of priority, then drag out prosecution making little changes paying fees but keeping patent secret, then 30 years later let it issue, have full term in tact and industry would have moved on not knowing patent was looming (submarine), maybe come up with same things. Now infringing.

2. 1995: Changed patent term to 20 years from date of filing. 
4 minor adjustments:
a. If subject to interference delaying patent, get up to 5 years back. 

b. Products going through regulatory procedures: drugs, cosmetics, certain food products. § 156, you can petition for adjustment

c. Maintenance fees, don't pay fee lose patent (4th, 8th, 12th, 16th year) to make sure you still want patent. Varies patent terms.

d. 1999 Congress passed law for more rigorous accounting for delays that aren't your fault. 

(A) If PTO doesn't give you first response w/in 14th months, you can add that to your term. 

(B) If you respond, their delay is more than 4 months, more time back. Various targets that PTO must hit, else you can petition for time back.

3. Inventor's rights after inventor's patent application is published after 18 months: After the patent issues, inventor gets some rights to enforce infractions that occurred after 18 months but before issuance.

C. Patents v Other IP
1. Trademark Law
a. Ex. X has shredded wheat patent, patents it, patent expires and says trademarked named. Suppose name wasn't descriptive.

(A) During patent term name has become associated with both the product and your name. Need tm to talk about product. Singer, etc.

(B) If company wants to avoid giving up good will, they should use 2 names (Singer sewing machine) so they only lose exclusive rights to one (sewing machine) when patent expires.

(C) Rule: When patent ends if tm is so associated with product that it identifies the product, trademark ends. Policy motivation being that that is the only way to get real competition.

2. Trade secret Law
a. One theory: On way to patent system, allow trade secret law in interim. In reality, an inventor loses right to patent using ts for too long under 102(g). Is this good?

b. TS Pros 

(A) Indefinite duration [as long as you protect it, obviously things like customer lists can lose value] 

(B) Cheap (few formalities) 

(1) Though depends on nature of good (easy to reverse engineer?) 

(2) Also, both patents and ts have litigation aspects.

(C) No notice needed.

c. TS Cons
(A) Risk of losing protection: Rival could patent and block your use.

(B) Protection for things that don't need protecting. We don't get rid of ts because inventors of non-patentable inventions will waste money hiding their secrets. TS law makes economic sense.

(C) Narrow: Only prohibits others from disclosing or using invention if they acquired it by improper means (SA63). Someone could reverse engineer or independently invent it.

(D) Difficult to license.

d. Insurance Policy: Try patenting, if before eighteen months doesn't look like its working out, withdraw and use trade secret law.

3. Why is this the only alternative? How about 2nd-tier patents?
a. Does fact 2 people came up with same invention mean we didn't need patent system to get innovation. Not necessarily, just happened to end race around same time

b. What do we do for the second person who loses by a little bit?

4. Copyrights
a. Allows independent creation. We could do this in patents but don't. Why?

(A) Worried about fraud? But your could req evidence... 

(B) Undercuts value of patent, shouldn't be randomly injured by independent inventor. But that happens with patent races too and we don't care.

(C) Real reason is probably that identical independent creation doesn't happen in copyrights and if it did, we wouldn't believe that it was independent.

b. Kitsch: Make patents broad, assured nobody can take it away, give it early, but less duration in exchange. more scope, less duration.

5. Private Incentives: Patent system relies heavily on private incentives. PTO does light amount of work, private parties have to litigate. Why shouldn't society litigate patents, Attorney-General? Ties into bounty idea, gov influencing market dynamics.


XIII. Misc
A. Doctrine of Obviousness/Double Patenting
1. 2 types of DP
a. Literal: Can't have 2 claims that are identical in different patents.

b. Obviousness type DP: Can't get claim that is obvious given your earlier claim. Barred, don't want you to keep filing patents that will give you longer and longer terms.

2. Worry person will assign similar patent to someone else, 2 people will sue infringer.

3. Why do we need this rule?

a. 102(e) and 102(a) only cover someone else's actions

b. 102(b) can be avoided by having less then a year between the two patents.

B. Terminal disclaimer: We'll allow our new patent to end at same time as old, though we don't think they are the same. We disclaim any extra term.

1. Suppose P1 is still being processed, then could go back and add it in.

2. If its w/in 2 years of issuance, can get reissue.

3. Maybe patent 2 isn't fully rejected, cut out the bad and keep going.

4. Terminal disclaimer only applies to the specific problematic claims.

C. Cease and Desist Letters/Venue
1. Don't want letter to be too aggressive bc recipient could go to court and get declaratory judgment saying they aren't infringing.

2. Then the opponent gets to pick venue instead of the inventor. Keep letters friendly enough to avoid that.

D. Damages: How does one calculate damages when only a part of a car has its patent infringed on?

E. Specification and Public Domain
1. Johnson and Johnson: In specification, discussed 2 ways to construct element (aluminum, and less good, stainless steel) but only claims aluminum. Court refused to apply DOE, said stainless steel is in public domain.

2. If they hadn't said stainless steel, they probably could have gotten it under DOE. So why should they be barred bc they mentioned it?

3. What if claim is struck down for another reason. Have they now given anything to the public domain?

F. Ethical Responsibilities
1. When you interact with PTO, ex parte (just you and PTO) so you have ethical responsibilities above and beyond normal interactions.

2. If you have access to prior art, if reasonable examiner might think it is important, must bring it forward even if you don't think it blocks you. Only intentional things will get L in trouble, not small mistakes. Must be material - something reasonable examiner deems important. 

3. Ex: App filed in 3 countries. One country digs up hurtful prior art. Must then call it to attention of every other office. Harsh penalty if you don't, void patent. If patent is already issued, don't have to do reissue. 
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